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Question | (4 points) Mark
1) | 4 —4:| 20|andx<5thenE:ﬂ 1
|x—5 |x—5| 5—X
2) ”T“ — 6m = — = the principal measure of 177" is — 1
3) | AnB=[-2;6]"]-;0]=[-2;0] 1
4) Uanthhenﬁzﬁ,soazl 1
1 3
Question 11 (6 points) | Mark
Part A
)[A=-1 1
2) | B=443 0.5
3) | C=243(1.25pts), then 2 =2 (0.25 pt) 15
Part B
1) | xX* =3=x%+1 no solution and x* —-3=-x*-1thenx=+lorx=-1 1
X —w =3 1 2 3 +o0
x—1 - - D+ T + +
4-2x + + + (0 - -
2) 2x -6 - — - — DU + 2
2x + 6 — + + + +
solution - + - - 1 - x e]-31]u[2;3
Question 111 (4 points) Mark
1) | D(3;2) 0.75
2) [x+y+1=0 0.75
3) | x=5andy=-8 0.75
4) | G2;-1) 0.75
5) | A2 2) 1
Question 1V (5 points) Mark
a) | P(2)=0then4a+2b-6=0 0.5
1) | b) | P(3)=6then9a+3b-6=6 0.5
c) |la=landb=1 0.5
XEL X —w -3 2 +or
x—2 X’ +Xx-0 <3 I n n
x*—2X
2) %6 1] 3) X—2 - - 0 * 1
Ix_6 P(x) t o~ o *
0 X €] — 00;—3[ U] 2;+o0[
2) 4) S1=x?-2x+5;S,=1-x and S3= 10 — 2x then 1
4) S1— (S2+ S3) =x% + X — 6 =P(X)
b) | 5) S1> Sz + Sg then S1 — (S2 + Sz) >0 so P(x)>0 therefore X €] — 00;—3[\]2;+oc] 0.5
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Question V (5 points) | Mark
Part A
1) | A =tanx 1
2) | a) cosa=& 1
E= Sin(5—n—oc) x COS(—7m+ ) =Sin(E—oc) x COS(m+ o)
2 2
b) 1
= cos(a) x—cos(a) = ——
Part B
L cosp 1 cosB _1l4cosp = -1 -1 1
) 1-cos®p 1 cosp ~ 1—cos’ B 1 cos’ ~ 1—cos’ B sm2[3
2) U+ v2 = (cosO — sinf)? + (cosh + sinf)? 1
= €05%0 — 2c0s0sind + sin0 + cos?0 + 2cosOsind + sin?0 = 2
Question VI (6 points) | Mark
Part A
Zﬁ—ﬁézﬁ, then Zﬁ—ﬁ—ﬁ=6, then 2ﬁ+ﬁf—ﬁ:6, then
| — — - N R 0.75
) 3DF -DB =0, then DF=%DB
— 1= — = 1l 1= = 2—— l-— = =
DF==-DB; DA+AF=-DA+=-AB; AF=—DA+=-AB; AE=AB+BE;
2) 3 3 3 3 3 1.25
AE = AB + 2BC , then AE =AB+2AD
3) AF = %KE then AF and AE have same direction and A is common the A F andE 05
are collinear.
Part B
1) | V =MA —3MC + MB + MD = MC + CA —3MC + MC + CB + MC +CD = 2CA 0.75
2)| [V|-2cA-2x6v2-12/2 05
3) V =MA —3MC + MB + MD = 075
MG +GA —3MG —3GC + MG +GB + MG +GD =-3GC =3CG '
Part C
12
1) | A(0;0); E(1; 2) and F(§;§) 0.75
— — 1.2 — 1=
2) | AE(1;2)and AF(E;E) then AEngF 0.75
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